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---------- GUEST T DN cocmmneoee

(8°8-878)/(8%8 + 878) = 117X

(878-878)/(878 + 878) = 117X
8716/2-8"8 = 11X

(1/2)-(8716/878) = 11~x

0,5-8"8 = 11”x

notes:

e 0,5 = 11~(log[11](@0,5)) = 11~-0,28906
e 8 = 11~(log[11](8)) = 1170,86719
e donc 9,5-8"8 = 11*x devient:
114-0,28906-1170,8671978 = 11"Xx
117-0,28906-117(0,86719-8) = 11”~x
114-0,28906-1116,93752 = 117X
11~(-0,28906 + 6,93752) = 117X

11 (6,64846) = 117X

méme base (= 11), donc:
6,64846 = X

vérification:

(878-878)/(8"8 + 878) = 8 388

11°6,64846 = 8 387



